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Algorithm of Multiple Approximate String
for Chinese Characters Based on Filtering
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(1. College of Computer, Zhejiang University, Hangzhou 310027; 2. Department of Computer, Shaoxing Arts and Science University,
Shaoxing 312000; 3. College of Information Engineering, Hangzhou Radio & TV University, Hangzhou 310012)

Abstract Most of the algorithms of approximate string match are designed for small or middle size of character set. Until now, people can’t find
any efficient algorithms for searching of multiple patterns of large size of character set. This paper presents an algorithm——MBPM-BM, which can
be used for searching of multiple patterns. Experimental results show that MBPM-BM works well in practice especially in chinese characters match.
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2.6 MBPM-BM
MBPM-BM
MPrePro(P*..P", k) /I
minL - min{mq, q 1.r}
L «[log, MinL+1
high  (10-%)"ones « (0~'1)",S — (10-+k) "
Forc S Do B[c] (04
Forq 1.rDo
Fori 1.msDo B[ pi']~B[p/]]1<<L X (qg-1)
Forc 3 Do B[c] - B[c]"ones
MX[1] - m;
Forq 2..r Do MX[q] ~ MX[g-1]+mq
Forc S DoPM[c]-~0"
EM <0, ZM ~0,initMC ~ 0
Forq 1.rDo
EM - EM<<mq | 1<<(mg-1)
ZM « ZM<<m, | (1<<(mq-1))-1
initMC — initMC<<mg | (1<<(mMg-1))-mg+k)
Forq 1.rDo
Fori 1.mq Do PM[ p/]~PM[ pf]|1<<(MX[q]-mq+i)

MBPM-BM(P*..P", T k)
MPrePro(P*..P", k)
j<0
While j=<n- (minL-k) Do
S —initS, last — minL+1
For i=minL-1 Downto 0 Then
If B[Tj:i]&ones#ones Then last — i
S« S-B[Tj.]
If S & high=0 Then Break

End For
If i=1 Then j — j+last
Else
VN < 0, VP « 1M1 MC  initMC
Repeat
MStep(j)
UpdateMC(P"..P",MC)
If MC&EM==0 Then MReport(j,MC)

jj*l

Until MC=initMC or j>n
End If

End While

UpdateMC(P'..P", MC) /I

HNX < 0,HPX ~0

Forq 1.rDo

HNX « HNX | (HN&(1<<(MX[q] -1)))>>( mq -1))

HPX « HPX | ((HP&(1<<(MX[q] -1)))>>( mq -1))
End For

MC < MC+HNX-HPX

MReport(j,MC)

Forq 1.rDo
If (MC>>(MX[q] -mg))&(1<<(mq-1))#0 Then P? (
)
MStep() [3]
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